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Note : (i) Question No. 1 is compulsory.  

 (ii) Attempt any five questions from the 

question nos. 2 to 8. 

1. (a) Define the following terms : 5×2=10 

(i) Natality 

(ii) Soil erosion 

(iii) Metastasis 

(iv) Multiclones 

(v) Carrying capacity 
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(b) Differentiate between any three of the 

following pairs of terms : 3×2=6 

(i) - radiations  and - radiations   

(ii) Conventional energy sources and 

Non-conventional energy sources 

(iii) Euphotic zone and Aphotic zone 

(iv) Primary air pollutants and 

Secondary air pollutants 

(c) State whether the following statements 

are ‘True’ or ‘False’ : 4×1=4 

(i) Incineration is an excellent and 

cost-effective method of waste 

disposal. 

(ii) Biomagnification is increase in the 

concentration of a chemical in the 

bodies of organisms with 

succeeding trophic levels.  

(iii) Bhopal gas tragedy occurred due to 

discharge of methyl isocyanide 

(MIC) and phosgene gases.   
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(iv) Excessive addition of the fertilizers 

to the soil results in surplus micro-

nutrients in the soil. 

(d) Match the terms given in Column I  

with their explanation given in  

Column II : 1×5=5 

 Column II  Column II 

(i) Leaching (1) Lowering 

down of 

Earth’s 

surface 

(ii) Denundation (2) Increase in 

the nutrient 

contents of a 

water body  

(iii) Tailing (3) Dissolution 

of soluble 

soil 

constitutents 

by water  

(iv) Eutrophication (4) Preparation 

of soil for 

planting 

crops 

(v) Tilling (5) Waste 

residue of 

ore 

processing 
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2. (a) Explain the different components of an 

ecosystem. 7  

(b) Write in brief the need and importance 

of developmental projects in India. 8 

3. (a) Describe the effects of urbanisation  on 

the environment. 8 

(b) Why do we consider biological pest 

control as an innovative agricultural 

technology ? Write its applications and 

advantages.  7 

4. Discuss the health problems associated with 

food. List the agents responsible for causing 

these diseases. Write briefly about the food 

adulterants and its control policies.  15  

5. (a) How can public awareness play a vital 

role in environmental management ? 7 

(b) Briefly discuss the need for 

conservation of wildlife.  8 

6. (a) Describe the exponential and sigmoidal 

population growth curves with the help 

of examples. 8 

(b) Write the effects of overgrazing on the 

environment. 7 
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7. (a) Explain the concept of ‘Sustainable 

Development’. How does a sustainable 

society differ from a frontier society ? 8 

(b) List the human activities causing 

deforestation. Discuss briefly about 

each activity. 7 

8. Write short notes on any three of the 

following :  5×3=15 

(a) Role of media in environmental 

education 

(b) Waste minimisation 

(c) Ecological pyramids  

(d) Chernobyl disaster  
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 AHE–01 

Lukrd mikf/k dk;ZØe  

(ch- Mh- ih-) 

l=kar ijh{kk  

twu] 2025 

(O;ogkjewyd ikB~Øe) 

,-,p-bZ-&01 % ekuo i;kZoj.k 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % (i) iz'u la[;k 1 vfuok;Z gSA 

 (ii) iz'u la[;k 2 ls 8 rd fdUg° ik¡p iz'uksa ds mÙkj 

nhft,A 

1- (v) fuEufyf[kr 'kCnksa dks ifjHkkf"kr dhft, % 5×2=10 

(i) tUe&nj 

(ii) e`nk vijnu 

(iii) esVkLVsfVl 

(iv) eYVhDyksu 

(v) /kkj.k {kerk 
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(c) fuEufyf[kr inksa ds fdUgha rhu tksM+ksa ds chp vUrj 

crkb, %  3×2=6 

(i) - fofdj.k vkSj - fofdj.k   

(ii) ikjaifjd ÅtkZ lzksr vkSj xSj&ikjaifjd ÅtkZ 

lzksr 

(iii) lqizdkf'kr {ks= vkSj vizdkf'kr {ks= 

(iv) izkFkfed ok;q iznw"kd vkSj f}rh;d ok;q 

iznw"kd 

(l) crkb, fd fuEufyf[kr dFku ^lR;* gaS ;k  

^vlR;* % 4×1=4 

(i) HkLehdj.k vif'k"V fu"iknu dh ,d mRÏ"V 

vkSj fdQk;rh fof/k gSA 

(ii) tSovko/kZu lthoksa dh dk;k esa mÙkjksÙkj iks"kh 

Lrjksa ds lkFk jlk;uksa dh lkanzrk esa o`f¼ gSA 

(iii) Hkksiky xSl =klnh esfFky vkblkslk;ukbM 

(,e- vkbZ- lh-) vkSj QkWLthu xSlksa ds fjlko 

ds dkj.k gqbZ FkhA 

(iv) e`nk esa moZjdksa dks vR;f/kd ek=k esa feykus ls 

e`nk esa lw{eiks"kdksa rRoksa dk vkf/kD; gks tkrk 

gSA 
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(n) dkWye I esa fn, x, inksa dk dkWye II esa nh xbZ 

mudh O;k[;k ls feyku dhft, % 1×5=5 

 dkWye&I  dkWye& II 

(i) fu{kkyu (1) i`Foh dh lrg 

dk uhps vkuk 

(ii) vukPNknu (2) fdlh tyh; 

fiaM ds iks"kdksa 

rRoksa dh ek=k 

esa o`f¼ 

(iii) iqPNu@nh?kk±r (3) foys; e`nk 

?kVdksa dk ty 

}kjk foys;u@ 

fo;kstu 

(iv) lqiks"k.k@;wVªksfQds'ku (4) Qlyksa ds jksi.k 

ds fy, e`nk 

rS;kj djuk 

(v) tksruk (5) v;Ld 

izlaLdj.k ds 

vif'k"V 

vof'k"V 
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2- (v) ,d ikfjfLFkfrd ra= ds fofHkék ?kVdksa dk o.kZu 

dhft,A  7 

(c) Hkkjr esa fodkl ifj;kstukvksa dh vko';drk vkSj 

egRo ds fo"k; esa la{ksi esa fyf[k,A 8 

3- (v) i;kZoj.k ij 'kgjhdj.k ds izHkkoksa dk o.kZu dhft,A  

8 

(c) ge tSfod ihM+d fu;a=.k dks ,d uokpkjh Ïf"k 

izkS|ksfxdh D;ksa ekurs gSa \ blds vuqiz;ksxksa vkSj 

ykHkksa dks fyf[k,A 7 

4- Hkkstu ls lEcfU/kr LokLF; leL;kvksa dh foospuk 

dhft,A bu jksxksa dks djkus ds fy, mÙkjnk;h deZdksa dks 

lwphc¼ dhft,A [kk| vifeJdksa (feykoVh inkFkks±) 

muds fu;U=.k dh uhfr;ksa ds ckjs esa la{ksi esa fyf[k,A 15 

5- (v) tutkx:drk fdl izdkj i;kZoj.kh; izca/ku esa 

egRoiw.kZ Hkwfedk fuHkk ldrh gS \ 7 

(c) oU;thoksa ds laj{k.k dh vko';drk dh la{ksi esa 

foospuk dhft,A 8 
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6- (v) mnkgj.kksa dh lgk;rk ls pj?kkrkadh vkSj flXekHk 

tula[;k oØksa dk o.kZu dhft,A 8 

(c) i;kZoj.k ij vfrpjkbZ ds izHkkoksa ds ckjs esa fyf[k,A  

7 

7- (v) ̂ lrr fodkl* dh ladYiuk dks le>kb,A lrr~ 

fodkl fdl izdkj ÝafV;j lekt ls fHkék gksrk gS \ 

    8 

(c) ou vi:i.k djus okys ekuo dk;Zdykiksa dks 

lwphc¼ dhft,A izR;sd dk;Zdyki ds ckjs esa la{ksi 

esa ppkZ dhft,A 7 

8- fuEufyf[kr esa ls fdUg° rhu ij y?kq fVIif.k;k¡ fyf[k, % 

5×3=15 

(v) i;kZoj.k f'k{kk esa ehfM;k dh Hkwfedk 

(c) vif'k"V U;wuhdj.k 

(l) ikfjfLFkfrdh; fijkfeM 

(n) psuksZfcy vkink 

× × × × × 

 

 


